A E AT

B 1%

TRV X —

R — 1 AmIRAKFE AR

7 A HE 711,088,000kcal/h

I 55 HiE 171,000,000kcal/h
R — 1 BT AR

7 A HE 71816,480kcal/h

% 75 He /1 726,000kcal/h
R—2%ZEHT 77—

HE177.Tkw
R—3%EHe— KR TFT7—

R HES1114.0kw

% 55 BE /123.0kw
B— 1 &%KAA 77— (FREEEX)

3,000g/h (SEFEAR &)

e e FH 77 10kg/em 2

I\ 538.8 nf
B— 2 &% ARA 77— (Bl

1,800g/h (RS &)

e FH I 7710kg/cm 2

BN E9.62 nf
CT— 1mags (BIUH)

i HIHE/71,987,500kcal/h
PCD—11., 1 2®HBHEKKEST

FW A A i 150%3,2001/min*20m* 18. 5kw
PC—11., 12®HKIKKT

F WA A i 50%40%2231/min*28m*3. 7kw
PC—21, 22®HmK2KKT

F WA F i 50%40%2501/min*28m*3. Tkw
PCH—11. 1 2®%EKRT

A 578 125%100%1,9001/min*30m* 18, 5kw
PCH—21., 2 2®HEAKI KR

WA Fr AL 80%65%672/min*30m* 7. Skw
PCH—31., 32, 33®iEAK2RKRT

F WA B i 80%65%6,9001/min*38m* 1 Tkw
PCH—4 1HWiRKZ2ZIRA T

F WA B i 65%50%4001/min*35m* 5. Skw
PH— 1{EAKRNT

F WA A i 65%50%3001/min*30m*3. 7kw




R E ST PR Bl 1% =
PV —1EBZEHKE T 1
EZ27K > 7°3001/min*(-250mmHg)*0.75kw
#57K AR > 7°1001/min* 1.2kg/cm 2 *0.75kwV P — 0 1 &
ZERER AR T 1
R ENE A 20.12m ® /min* H 2% £ -200mmHg (20*0.4kw)
OGP—1AANETRT 4
KT 11 FH25%401/mjn*3kg/cm  *0.75kw
CH— 1Ak~ y & — (11) 1
CH— 2 MK~y ¥— (&) 1
CH— 3#Kk~y &— (1F) 1
SH— 17&%~v % — (i MHkg/cm?) 1
SH— 2 &%~y ¥ — (i H4kg/cm?) 1
SH— 37&%~v % — (i MH2kg/cm?) 1
HE X — 1 #2\zc#atk 1
JNZAGE 77311,700kcal/h
HT— 14y by L7 7 1
A7%h4,5001 (SUS3 0 4)
FT—17Tvvakry 1
4001,850H 1 &K J+4kg/em? 2 IKJ+E1kg/em?
OST—1AA NP —EREZ L 1
AH5H950L
OT—1AANEY 2
2 5:30,000L
WH — 1 WA 2
Fe KM E:30cc/min* fg K H 1 5kg/em 2
WS — 1 AR AL 2 2
B KIE7K 58.0/h
TE — 2 iR 1
3 14 7K 200L IR 7K 2001, #31R. 7K 5001
WE — 2 R4 7 32 2
W& > 71200
R > 7' 1.5MPa*28cc/min
EF—1#5x77 v 1
FrkiAynyazyy
No.31/2%14,000m ® /h*3. 7kw
EF—25K7 7~ 2

FriAyeyagyy
No.4*18,000m ®/h*3.7kw




B 1%

EF—3#x77 v

AIERI750%11,200m® /h*3.7kw
EF—4#5x7 7~

A ERF500%2,000m ° /h*0.4kw
EF—-545%x7 7~

EEAZZ R 160m ° /h*6mmAq*40w
EF—-64#5%x7 7~

74777/No.11/2%¥100m® /h*6mmAq*15w
EF—7Hx77 v

74777/No.1*¥50m® /h*6mmAq*Sw
EF—8#x77 v

A ERI350%1,000m > /h*5mmAq* 150w
EF— 977 v

AHER250%410m > /h*5SmmAq*25w
SF—1f&x77 v

F WA ynya7yy

No.4*20,000m ®/h*25mmAq*3. 7kw
SF—2fa 77 v

FriAymyadyy

No4*20,000m ®/h*25mmAq*3.7kw
SF—3fa 77 v

AHER750%11,200m > /h*25mmAq*3.7kw
SF—4fa 77 v

A ERI500%2,000m > /h*20mmAq*0.4kw
SF—6fa~77 v

74777/No.11/2%100m > /h*6mmAq*15w
SF—12K77v

74777/No.2%¥700m > /h*15mmAq*80w
SF—13#HK77v

7477/No3*1,800m */h* 1 5SmmAq* 130w

W IR 2 1 7K 2B

50USRT (WF151,200kcal)
(% 2 180,000kcal)

40USRT (#155120,960kcal)
(2 J75144,000kcal)




B 1%

WEEECT—1 (WNAH150RT)
WEAR 7 (1.8, 5kw)
FANETHRT (0. 4kw)
ZERRE (OMVRAAERA 0 1 1kw)
(H 5E190kw)
(M5 150kw)
Zeii% (A FAMBEALBEA @ 3.7kw)
(I FE107.4kw)
(FZ7584.7kw)
w77y (== 2. 2kw)
P77 (B 2. 2kw)
P77 (WC: 2. 2kw)
P77 (RE 2. 2kw)
K77 (Vx> 1. 5kw)
PR ~77> (RCU: 0. 4kw)
PR 77> (RCU: 0. 2kw)
FANA R L—TH 27 (10,000L)
FANF—ERHZ T
i s v o
JrraAf)la=v hFC—200
(% 551,730keal : BE52,020kcal)
JyraAf)la=y hFC—300
(11 752,200kcal : BE52,630kcal)
JyraAf)la=y hFC—400
(1 752,640kcal : %5 3,500kcal)
Jyraf)la=y hFC—600
(4 523,140kcal : 1ZZ4,730kcal)
Jr7raAf)la=v hFC—800
(#554,300kcal : 1% 556,070kcal)
TJyrafla=y hFC—200 (RIHHAI)
(3 551,730kceal : BZ22,020kcal)
NR—AR— RFbe—x— (BEHIT)
HREt—%— (K@&EZ : BEES500kcal)
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AX B T

B 1%

R I)=7y/8f

R JER T

i fi

CH— 1 IR AT AR

(% F2105.0kw : BZ 5 127.0kw)
FANY—E A% (98L)
FANE 7 (HITF3,0000)

Zesk% (¥ 558,000kcal :
A— 27231 (¥4 25,000kcal : 1% 527,400kcal)
A — 3ZEF% (¥ 7578,000kcal : B 5 100,000kcal)
A— 4 7= (1 540,500kcal : 1% 5545,000kcal)
TANE—a=y k (EMER)
F—18EBE (5. 5kw)
F—28eEkE (3. 7kw)
F—38EBE (0. 2kw)
F— 488 (0. 4kw)
WmHE (10T)
mHE (35T)
mHE (57T)
WRAR 7 (2.
miEAKFR 7 (1.
WHUKKR 7 (1. 5kw)
WHUKFR 7 (2. 2kw)
FANETRT (0. 2kw)
i s v o

%55 11,500kcal)

2 kw)
5 kw)

FCU—877r aAfjla=y h

(BE5.0k w : BEFE119k w)
PAC—CR—140

(HE125k w
PAC—CR—140

(WE125k w : IEFE140k w)
FC—37y7rvaAfilz=yvh

(#551,900kcal : RZZ2,400kcal)
FC—47y7rvafilz=yh

(1 552,500kcal : B%53,200kcal)
FC—7yrvafira=yvh

(3 53,750kcal : B 54,800kcal)
g (250 0¢)

2140k w)
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BT

B 1%

AP - PEiE R

OPAC—1— 12k (ZEm Ny r—)
(K 7593.4kW : BZE82.9kW)

OPC—1— 225k (ZEm Ny r—)
(I 546.6kW : BE541.5kW)

PAC— 172538 (KB — MR T)
(I E28.0kW : BEE31.5kW)

PAC— 2753k (KB — MR T)
(1 E80.0kW : BE590.0kW)

PAC— 37t (EXEBJH E — hARU )
(A 5595.0kW : BZ 7 106.0kW)

PAC— 475k (EXBJHE — R )
(V3 55.6kW : BE5H6.3kW)

PAC— 57 (KB E — R Y)
(5 55140.0kW : BZZ155.0kW)
PAC— 623 (KB — MR T)
(/A 3.6kW : [ 54.0kW)

¢ (E=EmoNy r—U  IREE)
(I E2.8kW : BE7E3.2kW)

E (ZEm Ny r—  ERE)
(I E2.2kW : BE72.5kW)
(ZEm Xy r— TR E)
(B ES5.6kW : BE5E6.3kW)
(B /Ny r— L HEER)
(% E8.0kW : BE59.0kW)
(28t /8 fr— 0 FHLELER)
(% E8.0kW : BE5E8.0kW)

§ (Zeh Ny r— L - LB )
(I 58.0kW : BE78.0kW)

g (Z2h Ny r— i)
(K FE14.0kW : BE 57 14.0kW)
§ (22l r—  BRE)
(I ES.6kW : BE756.3kW)




PR

B 1%

ZEE (ZEm Ny = )
(1 E2.8kW : BZE3.2kW)
S (R r—T L HBREER)
(W E3.6kW : 1ZZ4.0kW)
ZEHIE (ZEm Ry r— L YR E)
(K E14.0kW : BEFE16.0kW)
eI (2R r—T L RSLEE)
(M ES5.6kW : B Z6.3kW)
7S (BN y r— R
(5 514.0kW : B25514.0kW)
TS (BN r—Y s IR R )
(1 E3.6kW : B2 E4.0kW)
HE X — 1 22 (REIREE)
(f6773 3 0m?/Mh*1 1 OPa)
HE X — 2 22 (FH=)
(6772 6 Om?/h*1 1 OPa)
Ahb—himryaryyy (RBEREE)
(6772 5 0m?/Mh*1 1 OPa)
Pempg (ZRthik B IR =)
(B771 50m?/Mh*1 1 OPa)
PeEAE (Fren =)
(6711 6 Om?®/h* 7 OPa)
PeEbg (&)
(6712 0 0Om?®/h* 6 O Pa)
PeEbg (R E)
(fE7J1 5 0m?/h* 6 OPa)
Pempg (R )
(fE771 5 0m?>/h*6 OPa)
Pempg (Al /=)
(6771 5 0m?>/h*7 OPa)
Pempg (23 —RERE )
(6771 8 Om?®/h*6 OPa)
ARb—himyaryyy (A=)
(fE7J4 5 0m?/Mh*1 1 OPa)
PeEpg (Bl &A1)
(6773 0 Om?®/h* 6 O Pa)
P (hoA L)
(fE7J1 3 0m?/h* 6 OPa)




R E ST PR Bl 1% =
PelEpg (ei=s) 1
(fE7J1 0 Om?®/h* 8 O Pa)

Abhb—bhvmyazyy (K- ATRESE) 1
(6774 7 0m?/Mh*1 1 OPa)

Zhb—himyazyy (KMRU xR 1
(B33 0 0Om?/h*1 O OPa)

Zhlb—himayarzyy (RRYxRVE) 1
(6773 5 0m?/Mh*1 2 OPa)

ARhb—himyaryy (HRY R VE) 1
(fE713 5 0m?/h*1 2 OPa)

Pempg (8 - k=) 1
(6712 0 Om?®/h* 7 OPa)

Pempg (EA=R) 1
(fE718 O m?/h* 7 OPa)

Pempg  (VeilE N ) 1
(6772 5 0m?>/h*6 O Pa)

PEEAE (h A L) 1
(6771 5 0m?>/h*6 OPa)

FiAv vy a”zyy (FHE=S) 1
(f6771 3, 57 0m?®Mh*8 3 0Pa)

WAy vy a7y 1
(fE/7J1 2, 300m?/h*4 6 0Pa)

FbAv vy a7y (HHEE) 1
(6713, 500m?®Mh*4 6 0Pa)

FWbAvmyazy 1
(f67J1 3, 00 0m?/h*5 0 0Pa)

AR —himyazyr (WEE) 1

(571, 800m?3/h*3 8 0Pa)




